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cplexDLP As New Cplex()
cplexIP As New Cplex()
rngIP(1)() As IRange
rngDLP(1)() As IRange

Dy oo iy b ]

z As INumVar
X As INumVar
yl As INumVar
y2 As INumVar
ul As INumVar
u2 As INumVar
u3 As INumVar
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ulbar As Double
u2bar As Double
u3bar As Double
zbar As Double

xbar As Double

ylbar As Double
y2bar As Double

A Alogay O ygu0 Ay AS

wobj As Double
zobj As Double
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counterIP As Integer
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Dim stoppingcondition As Boolean
stoppingcondition = False
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z = cplexIP.NumVar(Double.MinValue,
Double.MaxValue, ILOG.Concert.NumVarType
x = cplexIP.NumVar(@, Double.MaxValue,
ILOG.Concert.NumVarType.Float)
cplexIP.NumVar(@, Integer.MaxValue,
.Concert.NumVarType.Int)
cplexIP.NumVar(®, Integer.MaxValue,
.Concert.NumVarType.Int)

cplexDLP.NumVar(@, Double.MaxValue,
.Concert.NumVarType.Float)
cplexDLP.NumVar(@, Double.MaxValue,
.Concert.NumVarType.Float)
cplexDLP.NumVar(@, Double.MaxValue,
.Concert.NumVarType.Float)
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counterIP = 0
wobj = ©
zobj = 0
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Dim experssion(3) As ILOG.Concert.IIntExpr
experssion(1) = cplexDLP.Prod(ul, @) ' (@, ul)
experssion(2) = cplexDLP.Prod(ul, 0)
experssion(3) cplexDLP.Prod(ul, ©0)
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Dim objfunctionip As ILOG.Concert.IObjective =
cplexIP.AddMinimize()
Dim objfunctiondlp As ILOG.Concert.IObjective =
cplexDLP.AddMaximize()
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experssion(3) = cplexDLP.Sum(cplexDLP.Prod(1,
ul), cplexDLP.Prod(4, u2), cplexDLP.Prod(2, u3))

rngDLP (@) = New IRange(1l) {}
rngDLP(0)(1) = cplexDLP.AddLe(experssion(3), 5,
"DLP1")
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rngIP(@) = New IRange(1000) {}
experssion(1) = cplexIP.Prod(1, z)
cplexIP.AddToExpr(objfunctionip, experssion(1))
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Do While stoppingcondition = False
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experssion(1l) = cplexIP.Sum(cplexIP.Prod(1, z),
cplexIP.Prod(-2, yl1), cplexIP.Prod(-2, y2),
cplexIP.Prod(3 * ulbar - u2bar + u3bar, yl),
cplexIP.Prod(2 * ulbar + u2bar - u3bar, y2))
rngIP(0) (counterIP) =
cplexIP.AddGe(experssion(1), 5 * ulbar + 7 *
u2bar + 4 * u3bar, "IP" & counterIP)

counterIP += 1
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cplexIP.Solve()

zbar = cplexIP.GetValue(z)
ylbar = cplexIP.GetValue(yl)
y2bar = cplexIP.GetValue(y2)
zobj = cplexIP.ObjValue
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experssion(2) = cplexDLP.Sum(cplexDLP.Prod(5 - 3
* ylbar - 2 * y2bar, ul), cplexDLP.Prod(7 + ylbar
- y2bar, u2), cplexDLP.Prod(4 - ylbar + y2bar,
u3))

objfunctiondlp.ClearExpr()
cplexDLP.AddToExpr(objfunctiondlp, experssion(2))
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cplexDLP.Solve()

ulbar = cplexDLP.GetValue(ul)
u2bar = cplexDLP.GetValue(u2)
udbar = cplexDLP.GetValue(u3)
wobj = cplexDLP.ObjValue
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>, o3 u3bar ¢ w2bar

If wobj <= zobj - 2 * ylbar - 2 * y2bar Then
stoppingcondition = True
End If

Loop

cplexDLP.End()
cplexIP.End()

Loop 4y =35 5 59— oo True nl, stoppingcondition
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